
Quanta	flessibilità	di	
bilancio	dalle	regole	UE?

Tra	il	2015	e	il	2018	la	UE	ha	concesso	complessivamente	all'Italia	29,7	miliardi	
di	flessibilità	di	bilancio	con	motivazioni	diverse.

Nel	2018,	secondo	il	Documento	di	Economia	e	Finanza	(DEF),	la	correzione	
strutturale	è	stimata	pari	a	0,1	punti	di	PIL	contro	una	richiesta	UE	di	almeno	0,3	

punti;	secondo	il	CSC	il	saldo	strutturale	peggiora	di	0,2	punti.	Quindi,	per	rispettare	
la	regola	sul	saldo	strutturale	nel	2018,	all'Italia	sarebbe	richiesta,	nello	scenario	

DEF,	una	manovra	di	0,2	punti	di	PIL;	nello	scenario	CSC	di	0,5.

Per	il	2019,	l’aumento	delle	imposte	indirette	previsto	dalla	clausola	
di	salvaguardia	ovvero	la	sua	compensazione	con	un	pari	aumento	di	imposte	

dirette,	consentirebbe	di	rispettare	le	regole	UE	(0,6	punti	di	PIL).

Manovra	di	bilancio	necessaria	per	il	2018-2019
per	rispettare	le	regole	europee

(Valori	in	%	del	PIL	e	miliardi)

Fonte:	elaborazioni	CSC	su	dati	Ufficio	Parlamentare	di	Bilancio.
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